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ECONOMICS HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper Itself.
it should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /' D. Each part carries one mark.
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Who said that “Economics is the study of material welfare"?

A Lionel Robbins B. Adam Smith  C. Alfred Marshall D. David Ricardo
Adam Smith, belonged to which school of economic thought?

A Classical school of thought B. Neo-Classical School of thought
C. London School of Economics D. Religious School of thought

if marginai utility is zero then:

A Total utility is zero B. Total utifity is maximum

C. Total utility is minimum D. Totai utility is negative

The slope of demand curve in case of normal good is:

A Positive B. Negative C. Zero D. [nelastic
Which of the following is a finear function?

A 2x+5=10 B. y=2x*+5x+6 C. y=2x +x> +6x+7 D. y=2x+5
An increase in income of the consumer, all other things unchanged, leads to:

A A rightward shift of supply curve B. A leftward shift of supply curve

C. An upward shift of demand curve D. A downward shift of demand curve
Which of the following is TRUE if supply curve starts at the origin?

A, Elasticity of supply is greater than one B. Elasticity of supply is equal to one
C. elasticity of supply is less than one D. Elasticity of supply is zero

Which of the following ts NOT a fundamental factor of production?

A Land B. Labour C. Capital D. Transport
What is labour?

A The workers in a factory

B. The employees in an office

C. Any physical or mental activity for the sake of reward

D. The population of the country available for work

When more and more units of labour are employed, while other factors remain fixed, there is
an increase in Marginal Product. This trend is known as:

A Law of Diminishing Return B. Law of Increasing Return

C. Law of Constant Cost D. Law of Increasing Cost

If total product is divided by the total number of labour used to produce the product, we get:
A Average product B. Marginal product

C. Total product D.
Which of the following is NOT a variable Cost?
A Rent of the buliding B. Salaries of the temporary workers
C. payment of electricity bill D. Expenditure on raw material
Which of the following is TRUE if Average Cost is equal to Marginal Cost?

Total Cost

A Average cost is zero B. Average cost is negative

C. Average cost is minimum D. Marginal cost is minimum

Which of the following is considered as price?

A Total revenue B. Marginal revenue C.  Average revenue D. Average cost
The increase in revenue that results from the sale of one additional unit of output is called:

A Total revenue B. Marginal revenue C.  Average revenue D. Total cost
Under perfect competition a firm eams normal profit when:

A Average revenues are greater than average costs

B. Average revenues are less than average costs

C. Average revenues are equal to average costs

D. Average revenues are less than total costs

Under perfect competition, profits are maximized when:

A Marginal revenue equals total cost B. Marginal revenue is negative

C. Marginal revenue equals marginal cost D. Total revenue is maximized

Which of the foliowing is TRUE in a situation of monopoly?

A There is one buyer in the market

B. There is one selier in the market

C. A large number of buyers and seliers in the market

D. Firm cannot influence the market price and quantity

Who presented the concept of Quasi rent?
A David Ricardo B. Adam Smith C. Alfred Marshal D. Keynes
Prefit is the reward for:

A Land B. tabour C. Capital D. Entrepreneur
For Examiner’s use only:
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ECONOMICS HSSC-|

Time allowed: 2:35 Hours Total Marks Sections Band C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 50)

Q2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
{15 x 3 = 45)
{i) What is positive science?
(i) What do you know about deductive method?
(iii) Write down any three characteristics of indifference curves.
(iv) What is a function?
V) Differentiate between 'Expansion of demand’ and ‘Rise of demand’.

(

{vi) Write down the three determinants of elasticity of demand.

(vii) Write down any three assumptions of law of supply.

(vii)  Compute the elasticity of supply if price increases from Rs 2 to Rs 6, quantity supplied per month
increase from 8 to 16 units.

ix) How equilibrium price and quantity is affected when demand rises and supply falls equally?

X) Why land is an important factor of production? Give three reasons.

What do you know about Intensive cultivation?

Xii) Write down the three characteristics of iabour.

B P,
x
=

> > x X x
£ =22 2z =
= T T~ o =

Write down any three “Economies of the Scale”.

——

What is meant by Division of labor?
Write down three merits of small scale of production.
Define law of diminishing return.

o ——

Differentiate between Marginal revenue and Average revenue.

—

xviii)  How does a firm earn supernormal profit?

X
x
=

What do you know about differential rent?
Differentiate between interest and profit.

— e~

x X
X %
= o

Differentiate between continuous and discontinuous variables.
Attempt any ONE part. (1x5=5)

Find the equilibrium price and quantity with the help of following demand and supply equations:
Q,=15-3P and Q0 =7+P
Differentiate between stock and supply.

SECTION - C (Marks 30)
Note: Attempt any THREE questions. All question carry equal marks. (3x10=30)

= F

—
—

Q.3 What is an Economic Problem? Expiain in the light of the definition presented by Lionel Robbins.
Q.4 What s Elasticity of Demand? Explain Unitary method in the measurement of elasticity of demand.
Q.5  Explain the equilibrium of a firm under perfect competition when firm is facing losses in short run.
Q.6  Critically examine Ricardian theory of Rent.

— tHS 1714 —-
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